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COMPUTER SCIENCE AND APPLICATIONS
PAPER-II

Note : This paper contains FIFTY (50) multiple-choice matching questions, each -
question carrying TWO (2) marks. Attempt All the questions.

1. For which values of m and n, the following statement is true ?

In any set of m integers, there are two numbers that have the same remainder

when divided by n.

(A) m

5, n =6 B) m=6,n=5
C) m=5,n=17 M) m=5n=5
2. Consider the sub-set S of English letters defined by the statement
S = {x|x is a vowel and x does not occur in the word exit}
What is the cardinality of the power set of S ?
(A) 16 (B) 32
) 4 D) 8

3. In the set of people, the relation x is not older than y does not satisfy which

property ?
(A) transitivity (B) reflexivity
(C)  antisymmetry (D) symmetry

4. A language L is accepted by a Finite State Automaton iff it is :
(A) Context Free (B) Context Sensitive

(C) Recursive (D) Regular
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5. Which one of the following is true for any simple connected undirected graph

with more than 2 vertices ?

(A) No two vertices have the same degree.

(B) At least two vertices have the same degree.
(C) At least three vertices have the same degree.
(D) All vertices have the same degree.

6. If the hexadecimal representation of an integer has 3 digits, how many digits

will be there in its octal representation ?
(A 2 (B) 3
) 4 D 5

7. If a quad of 0’s is found in the Karnaugh Map of a 4-variable boolean function,

how many literals are left in the function after simplification ?

(A) 1 (B) 2
(C) 3 Dy 4
8. In a flip-flop made from a Nand-latch, which input combination is

prohibited ?
(A)  low-low (B) low-high
(C) high-low (D)  high-high
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9. In the IEEE standard 754 representation of 32-bit floating point numbers,

the number of bits in the exponent part is :
(A) 6 (B) 8
(Cy 10 D’ 1n

10. By taking 2's complement of the 2’s complement of a binary number, one

gets :
(A) the I’s complement of the original number.
(B) the 2's complement of the original number.
(C) the original number.
(D)  the negative of the original number.
11.  What is output of following C language code ?
int x, *p = &x;
x = 0;
while (*p==x)
{
printf ("%d", x++);

p=tp+ L

(A) Does not print anything

(B) Prints 0, 1, 2, 3, 4, 5 and so on
(C) Prints 0, 2, 4, 6, 8 and so on
(D) Prints 1, 3, 5, 7, 9 and so on
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12. In C++, only one copy of the class is inherited, when it is defined as :
(A) Virtual (B) Static
{C)  Public (D) Private
13. A class that acts only as a base class and is not used to create objects
18 :
(A) Parent class (B) Super class
(C)  Abstract class (D)  Derived class
14. In C++, a friend function to a class C cannot access :
(A) private data members and member functions
(B) public data members and member functions
(C) protected data members and member functions
(D}  the data members of the derived class of C

15. Which of the following statements are frue about constructors of C++

classes ?

(£ A class can have any number of constructors.’

(t1)  Constructors can be inherited.

(iiz) The address of constructors can be referred.

(fv)  Constructors cannot be declared in protected section of the class.
(v)  Constructors cannot return values.

(A) @), (i), Gv)

(B) (D), (i), (iv)

(C) (), Gv), (v)

D @, Gv), @)
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16. Let E1 and E2 be two entities in an E/R diagram with simple single-valued
attributes. R1 and R2 are two relationships between E1 and E2, where R1
is one-to-many and R2 is many-to-many. R1 and R2 do not have any attributes
of their own. What is the minimum number of tables required to represent

this situation in the relational model ?
A) 2 (B) 3
(Cy 4 D) b
17.  Which one of the following statements is FALSE regarding normalization ?
(A) Any relation with two attributes is in BCNF. |
(B) A relation in which every key has only one attribute is in 2NF.

(C) A prime attribute can be transitively dependent on a key in a 3NF

relation.

(D) A prime attribute can be transitively dependent on a key in a BCNF

relation.

18. A type of query within another SQL query and embedded within the WHERE

clause is called :
(A) Super query (B) Sub query
(C) Master query (D) Inherited query
19. Which of the following is used for data retrieval from the database ?
(A) DDL | (B) DML

(C) SDL (D) VDL
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20.

21.

22.

23.

Which of the following statements is not correct ?
(A} Data Normalization is the process of defining the table structure.

(B}  The purpose of class diagrams is to model the interrelationships between

the different classes in the database.
(C) Individual objects are stored as rows in a table.
(D)  Properties of an object are stored as columns in a table.

How many elements of a 3x3 two dimensional array have the same memory

locations in both row major and column major order ?
(A) 2 (B) 3

(C) 4 D 5

Is it possible to find a loop in a Linked list ?

(A) Possible in linear time

(B) Possible in quadratic time only

(C) Depends on the position of loop

(D) Not possible

If a node in a Binary Search Tree has two children, then its inorder predecessor

always has :
(A) No child (B) No left child
(C) No right child (D) Two children
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24.

25.

26.

27.

28.

How many legal min heaps can be formed from values 1, 2, 3, 4 and 5 ?
(A) 8 (B) 6
(C)y 16 (D) 24

Congider a B-Tree of order 5 created from following keys in the order they
come :csamrezbtdfhg How many keys are present in the root

node of the B-Tree ?

A 1 (B) 2

c 3 D) 4

Example of Point-to-Point connection is :

(A) Star topology.

(B) Bus topology.

(C) Changing channels of television by remote.

(D) Both (A) and (C).

Initial header to the frame in OSI model is attached at :
(A)  Physical layer (B} Data Link layer
(C) Network layer (D) Both (A) and (B)

Which protocol is used to associate a logical address with a physical

address ?

(A) Reverse Address Resolution Protocol
(B) Internet Control Message Protocol
(C) Internet Group Message Protocol

(D) Address Resolution Protocol
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29. Which connector is used for a Coaxial cable 7
(A) RJ45 (B) BNC
(C) SC (Dy ST
30. Which Data Link layer protocol is not used for noisy channels ?
(A) Stop-and-Wait (B) Stop-and-Wait ARQ
(C) Go-Back-N ARQ (D) Selective Repeat ARQ
31. The purpose of ORIGIN directive in Assembly language is :
(A) toindicate the starting position of program block to be stored in memory.
(B) to indicate the locations of all the memroy registers used.
(C) toindicate the ending position of program block to be ended in memory.
(D) to indicate the starting position of data.
32. Which one from the following is false for Context Free Grammar (CFG) :

(A) A CFG is said to be ambiguous if there is more than one derivation

tree for particular string.

(B) The left hand side of production rules in CFG is always a terminal

symbol.
(C) Every regular grammar is CFG, but not all CFGs are regular.

(D) CFG is a 4-tuple.
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33.

34.

35.

36.

Which system program is useful to combine compiled object code modules into

ready to run code ?

(A) Compiler {B) Linker

{C) Loader (D)  Bootstrap Compiler
Which one from the following is false for Lex ?

(A) Lex is a parser.

(B) Lex program consists of declaration and translation rules.
(C)  Output file generated by Lex has extension .yy.c.

(D) Lex is lexical analyzer.

The Bottom-Up parser generates :

(A)  Left most deviation.

(B} Right most deviation,

(C) Left most deviation in reverse.

(D) Right most deviation in reverse.

Which one from the following is false for scheduling algorithms of operating

gsystem ?

(A) Starvs;tion i1s possible in SRT (Shortest Remaining Time) algorithm.
(B) Starvation is not possible in Round Robin algorithm.,

(C) Round Robin algorithm is better than FCFS in terms of response

time.

(D) When time slices in Round Robin scheduling algorithm of a time shared

system is very small then it results to FCFS algorithm.
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37.

38.

39.

Which page replacement algorithm suffers from Belady’s anomaly ?

(A) LRU (B) FIFO

(C) LIFO (D) MRU

Consider following statements for Unix operating system :

(I The character that can not be used for naming file is / (i.e. slash).
(II) The character / (i.e. slash) in command cd / represents root file system.
(III) The metacharacter * does not match files beginning with a . (dot).
Which one from the following is TRUE ?

(A) Statements I and II are True, and III is False.

(B) Statements I and III are True, and II is False,

(C) Statements I, II and III all are False.

(D) Statements [, II and III all are True.

Which mechanisms of IPC can be used to communicate data between

processes 7

(A) Pipes, Messages and Semaphores

(B) Messages, Shared Memory and Signals
(C) Pipes, Semaphores and Shared Memory

(D) Pipes, Messages and Shared Memory
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40.

41.

42.

43.

Compaction is a technique to overcome :

(A} external fragmentation.

(B) internal fragmentation.

(C) the problem of starvation.

(D) the problem of limiting the number of active processes.
Which one from the following is FALSE ?

(A) White Box technique attempts to find incorrect or missing functions,

and errors in database access.
(B) Boundary value analysis belongs to Black Box technique.

(C) A Product metric is used to measure the characteristic of documentation

and code.
(D) Conditional Coverage is a White box technique.

To identify defects in the interfaces and in interaction between integrated

components 18 :

(A) Regression testing (B) System testing

(C) Integration testing (D) Component testing
Software structural quality refers to how it meets :

(A) Functional requirements

(B) Non-functional requirements

(C)  Structured testing

(D) Structured code requirements
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44.

45,

46.

47.

Whichl one from the following is FALSE ?

(A}  Refactoring helps in reducing coupling and increasing cohesion.

(B)  The basic objective of refactoring is to improve coding.

(C) A better design has an objective of high cohesion and low coupling.

(D)  Pair programming coding process is associated with extreme

programming.
Aggregations means identification of :
(A) components (B)  objects
(C) classes (D) architectur_e

Which unit commonly used to measure the processing speed of super computers

now a days ?

(A) PFLOPS (B PIPS
(C) MFLOPS (D) MIPS
In K-nearest neighbor algorithm, K stands for :
(A)  Number of nearest training samples

(B) Number of nearest testing samples

(C) Number of iterations

(D) Number of total records
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48.

49.

50.

Data scrubbing is :

(A) A process to reject data from the data warehouse and to create the

necessary indexes.

{B) A process to load the data in the data warehouse and to create the

necessary indexes.

(C) A process to upgrade the quality of data after it is moved into a data

warehouse.

(D) A process to upgrade the quality of data before it is moved into a data

warehouse.
WiFi is
(A)  Simplex (B)  Full Duplex
(C) Half Duplex (D) Triplex

The Secure Electronic Transaction protocol is used for :

(A) Credit card payment

(B) Cheque payment

(C) Electronic cash payments

(D) Payment of small amounts for internet services
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